H & 0l & AHS B Ml A

2024 204 LBIGIH BEAS ~ GF2S
SH: SUS
M FOXX JIEE AHELS)
ol A oMY BF &y EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
U= 234,163 224,752 9,411
Al 2,200
- 231,963
FOIXX Dlet 2sH(EYS) 134,925 122,545 12,380
Al 2,200
- 132,725
Mst FOMEH 2F T4 22,520 27,940 A5,420
28 HA2Z 22,520 27,940 AB,420
201 LB AH| 22,520 22,520 0
01 AtR2elt] 5,370 5,370 0
OFI|tM RS2 T 150,000& 150
Osd)| SERXNES 240,000 =123 2,880
OSIE T HIAIAE 160,000& *12& 1,920
O3J18 80| Ryl
35,000& *12& 420
02 2224l 17,150 17,150 0
OREYS AIBZ2 20,000+ 12& 240
ORERZ 150,000& *12& 1,800
oFIIZ 750,000& =123 9,000
(OF el Sty oi= 150,000 3 +6& 900
OXtsxt BN Z 130,000& 130
OXtS XA 40,000 40
Os2xt B&8= 1,000,000& 1,000
Oszt2Xxt KXl 120,000 x 12& 1,440
(O)[0; Falie~En 100,000 = 11CH 1,100
Oz2 syl 1,500,000& 1,500
FORXE 29 104,005 86,135 17,870
DIRAE &2 3,800 3,800 0
201 LB-2AY| 3,800 3,800 0
01 At=R2teld| 3,800 3,800 0
OSegs8L30| RAE*
150,000 12& 1,800
ORIRME &= HZHI 1,800,000& 1,800
OXIEIIE IIUE =7 200,000& 200
FOIXXIS 435 4,000 3,000 1,000
201 B2 AY| 4,000 3,000 1,000
01 Al2 2218 4,000 3,000 1,000
OZQINXIFIE EHLL
20,0003 x25F «83 4,000
FOUXXS T2 29 21,095 19,225 1,870
201 B2 AY| 4,400 4,400 0
01 At 2elt] 4,400 4,400 0
OF0IXXg 289 4,400,000 4,400
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SN BUS
M FOXX DI 2sHEAS)
ohel: HRBID oHEE SH 2HED (el mg)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 220
2 IZICITHOH S S PEsE 4= 220 227 N7
O=gisdadt =2 2H|
220,000 220
Al 220
HY2IHH(BLS) 99,238 102,207 A2,969
ol 2| 62,626 60,603 2,023
FA2Y clE2H| 62,626 60,603 2,023
101 214 d| 62,626 60,603 2,023
01 2=+ 62,626 60,603 2,023
OAIZtI 224 31,186
ob6= 12,5313 * 1 «34AI 2H+ 123 5,113
o7= 11,3192 x3+34A1 2+ 128 13,855
=8= 10, 1623 +2H+34A| 2t 12 8,293
=9= 9,620 x 1H+34A| 2t 123 3,925
O&FdZ Al 140,000 x8H 12 13,440
ANFEXH| 18,000
obg 250,000 x 18+ 12& 3,000
S 185,000& x1H + 122 2,220
SV 180,000& x3E x 122 6,480
o8=3~9= 175,000& x3H » 12 6,300
JlE23| 36,612 41,604 A4,99
fAI1=2Z| 36,612 41,604 A4,992
201 B2 AY| 5,824 5,824 0
01 A=R2teld| 5,824 5,824 0
ORN2g J|lE2=EH| 440,000 x84 3,520
OJ 2828 =&l
8,0002 x3A!x8H 123 2,304
202 0idl 19,968 24,960 AN4,992
01 =WO4bI 19,968 24,960 A4,99
OJ|2gR=& ¢t
260,000 x8% » 122 x80% 19,968
203 AR F&lY| 9,020 9,020
01 J|22H PR FA| 6,600 6,600
os% 6,600,000& 6,600
02 HRIMAAHRFXRIH| 320 320 0
OZXJ AL | &= 40,0002 »8H 320
M EA2IHRFALI 2,100 2,100 0
ORNZE2Y 175,000& x 123 2,100
204 MR AY| 1,800 1,800
01 MM HAH| 1,800 1,800
OXUZ AL AH| 1,800
o53(0|2H5) 150,000 %124 * 128 1,800
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E 0 & AHE E A A

0248 S04t LBSIH SAS ~ FF2S
SN SBS
A FLUTXD|BHAEHSES)
ol A oMY BF &y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sds 277,649 261,925 16,724
Al 2,100
- 275,549
FRIXXPD B EHSES) 185,697 137,027 18,670
Al 2,100
- 153,597
HEe F=LdEH &3 Xd 29,542 29,542 0
zlZ2st FA2Y 29,542 29,542 0
201 Ler23 | 29,542 29,542 0
01 At2t2ltl 10,276 10,276 0
ORIMTIEHl FXI2elt]
253,000 122 3,036
O&gta e BY =22
140,000& 122 1,680
OAagordae] 89 =2
220,000& * 122 2,640
Osd)l et 2| ES =22
160,000& ~ 12 1,920
OAtge & 28 =5+
1,000,000& 1,000
02 s3=gHl 19,266 19,266 0
Oo&IIe3 1,000,000& «12& 12,000
O4 - ot=Ee=s 230,000 +6E 1,380
OAHOISTV =tz 12,1003 x 122 146
O3J1¥EI| |X2ell
35,0002~ 122 420
oulold a4 100,000 * 16CH 1,600
Ostaal Hidl 2tz
30,000 »2CH =128 720
OSAtdE FAlHI 3,000,000& 3,000
=2 Ixz =24 117,855 99,055 18,800
UANT €2 4,735 4,735 0
201 fer= 3| 4,735 4,735 0
01 At 2|l 3,175 3,175 0
OglEAz €5 HEH 1,600,000& 1,600
osgsgesll fRNEs
114,520« 12& 1,375
OulEINE =8 200,000 200
02 S3=gHl 1,560 1,560 0
ORER3 130,000& * 12 1,560
FeXX 2 g4zt 3,200 3,200 0
201 =3 3,200 3,200
01 At22t2l] 3,200 3,200
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A SES
M FOITRDIBHUSHSES)
el 4RI OHE B Sl HSD| (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 1,680 2,007 N327
Al 1,680
01 M= HI 1,680 2,007 N327
PAE RFH S 1,680,000& 1,680
Al 1,680
302 Ol==H o2 &= 420 223 197
Al 420
02 2 S E S22 420 223 197
OX0INISYAT HERZY
420,000 420
Al 420
BY2IHY(S2S) 121,952 124,898 2,946
el 2| 78,812 75,518 3,294
FAEE 523 78,812 75,518 3,294
101 21AH| 78,812 75,518 3,294
01 2= 78,812 75,518 3,294
OAlZt22+4 39,752
obg 12,5313 %2 +34A 2t 123 10,226
org 11,3192 x2Z x34A1 2H+ 123 9,237
S = 10, 1622 «3E *34A[ 2+ 123 12,439
95 9,620 x2H*x34A| 2+ 123 7,850
(OFSRUE= Rl 140,0002 x10&«12& 16,800
OXg2xH] 22,260
=53 250,0002 1+ 128 3,000
obg 185,000 x2&* 122 4,440
olg 180,000 x2& * 12 4,320
o8=~92 175,000& x5~ 123 10,500
Jl=3H| 43,140 49,380 26,240
2AII=3H 43,140 49,380 26,240
201 er23| 7,280 7,280 0
01 At2teltl 7,280 7,280 0
FA2E JI2+EH| 440,000 108 4,400
OJlzge-4d Sl
8,000 x34!%10&* 12 2,880
202 04| 24,960 31,200 6,240
01 =LHO LI 24,960 31,200 26,240
OJl2gf+8 0yl
260,0002 x 10« 122 +80% 24,960
203 AHR=H] 9,100 9,100
01 V22 HRFa| 6,600 6,600
osg 6,600,000& 6,600
02 3t R S| 400 400 0
OZ A& 40,0002 %10 400
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Hlw

MEE
Ofl &k2h

1,800
1,800

Ofl &F2H

2,100
2,100
1,800
1,800
1,800
1,800

- ESS

- SRA(E) - HIRAY

S - B

0K

175,000& « 122

0
=
10
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Rr

R0
0

ok
ol
Rl
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E 0 & AHE E A A

ZE FOIME & (ehol:®el)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
tEs 365, 163 306,527 58,636
Al 2,300
- 362,863
FOIXXI DB SH A S) 218,957 167,377 51,580
Al 2,300
- 216,657
Mst FOMEH 2F T4 42,477 20,427 22,050
28 HA2Z 42,477 20,427 22,050
201 LB AH| 22,977 17,927 5,050
01 AtR2elt] 4,19 1,986 2,210
OHIIHHAH =22 150,000& 150
ONH=s: =8 =2 440,000 440
OSIE T HIAIAE 110,000& « 12& 1,320
O3JI1EEI| 7X&eld|
53,0002 x12& 636
OFEEE HAIE Fdl 1,650,000& 1,650
02 33=24H| 18,781 15,941 2,840
ORERF 200,000& =123 2,400
oFIIZ 500,000& =123 6,000
(OF el Sty oi= 200,000 +6& 1,200
OXtS XA 30,000 0
OXtsit B&8& 750,000& 750
OO0IEXt B&8= 95,000& %b
ORlaacv2g 30,000& *12& 360
OA0IE TVlZ 16,500& * 12& 198
OstExt KXl 100,000& x 123 1,200
O0IEXt Rl 27,0002 128 324
O&Stx HAH| 250,000& 250
(@Fal=2I\]s| 3,000,000& 3,000
OXESSK L2AEAEXZ0l AHER
14,3003 x2CH* 122 344
OYE=X Y= 2,630
oAEEM MIIRS
50,0002 1204 & 600
o NS XA 130,000 *1CH 130
S1sk= N 1,000,000 *1CH 1,000
=PI 900,000 *1CH 900
401 A& B2 20HY| 19,500 19,500
01 Al&HI 19,500 19,500
OsA 1Z &AL EHla S ZAl
15,000,000& 15,000
OSAL 3tet dX SAF & Ttoet &M
4,500,000 4,500




SA: OES
M FOITRDIBHYSHUES)
ool FDIXHEIE 2 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=0T xlz =24 165,880 136,480 29,400
LEANS €35 1,700 1,700 0
201 er23| 1,700 1,700 0
01 At2teltl 1,700 1,700 0
OuUZANF &2 MEHI 1,500,000& 1,500
OUEItE JIUE =8 200,000 200
Fe XX 2 43t 4,000 4,000
201 et 3| 4,000 4,000
01 At2t2l] 4,000 4,000
OFe XA HA4+
20,0002 x25H +83] 4,000
FRIXxg 220 29 27,400 27,400 0
201 Ler23| 5,950 5,950
01 At2teltl 5,950 5,950
OF2Xx2 2 5,950,000& 5,950
301 EtE2 NS 21,450 21,450
14 0Bt 243 21,450 21,450
OF2UXKE 28 AL
19,450,000& 19,450
O=2UXXIE THESAHL Ad 24
2,000,000& 2,000
S.8HEN 29 132,780 103,380 29,400
301 EtE N = 132,780 103,380 29,400
07 S8 -0 - HES2d3 132,780 103,380 29,400
Oos&+¢ 127,680
oJl2+d 400,000 x21E« 128 100,800
odl= 400, 0002 x21E 22 16,800
SIS ESEa RS,
20,0003 x21H+23|x 12 10,080
ogtd=g 25,0002 x102E 22 5,100
ot erMEt SUl &HS0| 10,600 10,470 130
Al 2,300
- 8,300
HZE 0=8d &4 2,300 2,200 100
201 =3 2,300 2,200 100
01 AtR2t2lt] 2,300 2,200 100
O=tzs FMES 500,000 500
OO0rdzgt 2e| =25+Y 1,200,000 1,200
OFHKNIZ=IHN 29 600,000 600
ga. dgdgels Ukl | 4,500 4,500 0
301 EetE NS 4,500 4,500
06 A=ZSHUHAHIXE 2,500 2,500
Olt=2gid =24l 2,500,000& 2,500
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2A:

M FOITRDIBHYSHUES)
el JHR2ot Mt SUl 2SO EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 2,000 2,000 0
OMOI=2sta 24 2,000,000& 2,000
=2ste X 1,500 1,500
201 er23y| 1,000 1,000
01 AtR2t2|HI 1,000 1,000
Oz - HSdA 2E=23
1,000,000& 1,000
301 22N 500 500
11 AALAEIXIE S 500 500
O23 - MFAL FO A A
500,000 500
FAUNESL A X2 2,300 2,270 30
Al 2,300
206 M=l 2,070 2,043 27
Al 2,070
01 M=4l 2,070 2,043 27
OoggE =74l S 2,070,000& 2,070
Al 2,070
302 O|=H Mol 2ai= 230 227 3
Al 230
02 QRIS ES2a= 230 227 3
OFeIEgec BSL5Y
230,000 230
Al 230
HYE2LAHI(LHES) 146,206 139,150 7,05
el 2| 95,638 84,982 10,656
FNEE 52a] 95,638 84,982 10,656
101 @124H| 95,638 84,982 10,656
01 2 95,638 84,982 10,65
OAteI22+E 48,958
obg 12,5313 %2 +34A| 2t 123 10,226
olg 11,3192 +3E +34A 2t 122 13,855
o8g 10, 1622 «6E *34A[ 2+ 123 24,877
OdHZAHI 140,0003 * 12+ 122 20,160
(OFSF= N 26,520
obg 250,000 x1& 128 3,000
obg 185,000& x2&~ 123 4,440
org 180,000 x3&* 12 6,480
o822 175,000 x6&* 122 12,600
Jl=23sl 50,568 54,168 A3,600
SAI1=2ZH 50,568 54,168 A3,600
201 et 3| 8,736 8,008 728
01 At22t2l] 8,736 8,008 728
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A

S 0l & AHEY I

Al A

248 20ilaF LEeH SYS ~
SN BaS
B FOITR| Jlo AsH(HAE)
ol A oMY BF &y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2+ 515,247 523,884 28,637
Al 2,500
- 512,747
FRURX Jlgk e E+S) 334, 111 365,931 ~21,820
Al 2,500
- 331,611
HEe F=LdEH &3 Xd 75,429 131,829 A56,400
Zl2st =eHE 23 75,429 131,829 A56,400
201 Ler23 | 39,429 37,329 2,100
01 At2t2ltl 10,470 10,470 0
Osdll 848 === 154,000~ 12& 1,848
OsZIl ZIIZA =8 150,000& 150
(OFSPRiESIN f=d 150,000& 122 1,800
Oagetdae| 38 =8
230,000 * 122 2,760
ORI ZHIETIAIAE 130,000& « 12& 1,560
OdatxAd 188 =
143,000& 122 1,716
O3I138I| |Xl2ell
53,000& * 122 636
2 S5=2g4l 28,959 26,859 2,100
OoRER=a 410,000 123 4,920
oNIIR3 1,100,000& «12& 13,200
oY - otk 2= 200,000 6 1,200
OuEREREY= 100,000 *22] 200
OAOIETV =82 20,0002~ 12& 240
Od= M&E= |l 3,000,000& 3,000
OSEESX YEXHE 2el 3,130
oRAKFTH MRS 50,0002 123 600
o NHSAHAl 130,000 *1CH 130
S3-—t=7= 1,500,000 *1CH 1,500
oxte= Al 900,000 *1CH 900
O3tExt 2el 2,585
o NHSAHAl 45,0002 1CH 45
== 1,100,000 1CH 1,100
o XgF Al 1,440,000 = 1CH 1,440
OO0IEXt 2el 484
oHEE 64,0002 *1CH 64
o Xt =X 420,000 1CH 420
401 AIEHIZL 0] 16,000 60,000 44,000
01 Al&HI 16,000 60,000 244,000
OSAH &= SA 13,000,000 13,000
OSAt =5 &I SAt 3,000,000& 3,000
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SN BaS
A FQNR Jlgt 23 E+S)
ol A oMY BF &y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 20,000 34,500 14,500
01 It =S F = 20,000 34,500 14,500
OZz0ga FLHLSER 7
20,000,000 1CH 20,000
FUA A= 28 S 248,982 214,620 34,362
LEANE 22 2,962 17,700 A14,738
201 et 3| 2,962 1,700 1,262
01 At 2|l 2,962 1,700 1,262
OglEAz €5 M 1,500,000& 1,500
ORlgg MSIHE Itz
200,000 200
OuEAF &5)| |RA2=H| 1,262
osgsdea)| RAES
550,000 +2CH 1,100
o=zl R
13,5002« 12& 162
FRIXIX 2l 243t 5,500 4,000 1,500
201 er23| 5,500 4,000 1,500
01 At2teltl 5,500 4,000 1,500
O BH+-
20,0002 x25EH *112] 5,500
=X 2208 24 26,500 26,500 0
201 etz 3| 6,100 6,100
01 AtR2t2|H] 6,100 6,100
Oz 2 6,100,000& 6,100
301 2eEN=S 18,400 18,400
4 JIEt2d= 18,400 18,400
OFeXxa 2g A+
18,400,000 18,400
401 AlZHIZ S 0HbI 1,000 1,000
01 AlZH| 1,000 1,000
O=F2UXXe 28 28 AL 2=
1,000,000 1,000
405 KHaHE SH 1,000 1,000
01 Tt =S F=HI 1,000 1,000
O=eXtxg 28 =2 1,000,000 1,000
s - BHEH 2 214,020 166,420 47,600
301 EtE NS 214,020 166,420 47,600
o7 8801 - 32243 214,020 166,420 47,600
Oos&d+¢ 206,720
ollgsg 400,000 x34H*12& 163,200
odls 400, 0002 x34 & 22 27,200
o3| FA
20,0002 x34H+23| 12 16,320
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